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1 Consider the following statements regarding Periodic Labour Force Survey (PLFS) Report:
Statement-1 Current Weekly Status (CWS) in urban areas is measured at the interval of three months.
Statement-11 Present Labour Force participation rate (LFPR) and Unemployment rate is in declining
trend when compared with its base year 2017-18.

Which of the statements given above is/are correct?

(A) Statement I is correct only (B) Statement II is correct only

(C) Both Statement I and II are correct (D) Neither Statement I nor 1l is correct

(E) Question not attempted

ifEits® et ®iE g4 (PLFS) faré & st # frafaiaa woei ux faem #ifg

FIA-1: ol &l ® Hie faedl wed (CWS) A9 78N & Siad < /7T Sirdl |

FOA-11: T AT B iR g (LFPR) R ST 3% @l ofe 56 STam a9 2017-18 & gar
@I S 8, A 389 FIae &l s91 faas o 8|

ferg T SRt @t ¥ | B WA e 9 37 7

(A) Fad HeA [T 7 (B) %I wuT ILERI )
(C) %o 13X 11 31 91 B (D) A HIF 1 3 A & H 11 9 §)
(E) orgaiaued

2 Consider the following statements regarding recently released Reserve Bank of India regarding
Treatment of Wilful Defaulters and Large Defaulters Directions, 2023 :
1. The directions are applicable to all regulated entities including NABARD, SIDBI and EXIM
Bank.
2. A wilful default borrower needs to be reviewed and finalised within six months of an account
being classified as a non-performing asset (NPA).
3. Lender cannot proceed against guarantor without exhausting the remedies against principal

debtor.
How many of the statements given above are correct?
(A) 1 only (B) 1 and?2 only
(C) Alll,2and3 (D) 2 and 3 only

(E) Question not attempted

foapa fewieed ofit et fewieed sgaa, 2023 & fdas & ey o fod ¥ offw fear @i aretas

frefiet o weifyq Frafafiea saat o foam ik

1. Frdar o fafrafg s@mal NABARD, SIDBI afik EXIM §% @fsd 9% @ &

2. faogpa fewiee SarTwmar i aien Td sifom &0 @ & FH—IhiRT THe & ¥4 | Gi%d o % B8 Wl
& WA &I T At | (NPA).

3. FIRIE e SER & [q6E T ST Ry A1 e & faes Wihan el & e ¢

faT T SuTEd Bl ¥ 9§ foha B W E ?

(A)., e 1 (B) Faw 18X 2
(C) | 1,283 (D) had 2 3% 3
(E) - oT7aRa usd

311y O 2 P.T.O.



3 Consider the following statements regarding the Scheme for Remission of Duties and Taxes on
Exported Products (RoDTEP):
1. It provides a mechanism for exemption of taxes, duties, and levies on exported goods.
2. The scheme is WTO-compatible and is being implemented in an end-to-end IT environment.
How many of the statements given above are correct?
(A) 1 only (B) 2 only
(C) Bothland2 (D) None
(E) Question not attempted
frata Same wx g iR &1 & g A e & 999 ¥ frafafad weet o fam St
1. o Fram aget )&, g SR Tt & g2 % Y 9 UaM & ¢
2. A WTO-8TT89  &fiX & | o % SNl qrast § @0 & T 5|

T 7T Suied wowi H § fhae M AR 7
(A) aa 1 (B) ¥aw 2
(C) 1R 2am (D) =7 ¥ B T
(E) g ued
4 Consider the following statements regarding Prompt Corrective Action (PCA) Framework:
1. Currently PCA supervisory norms are applicable to both Government and non-Government
NBFC’s.

2 Discretionary actions under PCA include Restriction on Branch Expansion
How many of the statements given above are correct?

(A) 1only (B)  2only

(C) Bothland2 (D) None

(E) Question not attempted

e Hifeed T (PCA) BHas § dafira Frafaiad semi ot faam Sifme:

1. amE % PCA wddal Ae aard ofik i—at@nd NBFC Hf 9 @F] 8| & |

2 PCA% SdM faaamd @i 9 g & fean o afaey gt g

T 7T Suied wewi ° § fhae M A ® 7
(A) e 1 (B) ¥aw 2
(C) 1R 2am (D) =7 ¥ pig T
(E) orgaiaued
5 Consider the following statements regarding the Fugitive Economic Offenders Act:
1. AFugitive Economic Offender (FEO) is a person who has fled the country and against whom

an arrest warrant has been issued for involvement in economic offenses involving at least
Rs. 100 crores.

2. Under the Act, authorities are empowered to confiscate assets even when no conviction has
been obtained.

3. Financial Intelligence Unit is the nodal agency to implement the Act.

How many of the statements given above are correct?

(A) 1 and?2 only (B) 2 and3 only

(C) 1 and 3 only (D) All1,2and3

(E) Question not attempted

wffea sHMihS shod strafem ¥ gefaa fafafaa Hoei 1 faam Sk

1. wgeagsmite srthst (FEO) I8 M 8l ¢, 51 %9 § &1 %. 100 & & s saug o s
AT &, 3971 BISHT | ST & X 76 Raei ST arie s & €|

2. ofiEE % qed, M Bl ke W el S 9 Al Sui S & @ iR B §

3. 0 wEEd gefaei give srfafrem o @ 6 oY ed e 3

T U Suied wowi o § feae M ES 7

(A) e 18R 2 (B) %ad 2 &R 3
(C) waw 1813 (D) 1,231 3T
(E)  orgaia ued

311y O 3 P.T.O.



6 Consider the following statements regarding the Global Survey on Digital and Sustainable Trade
Facilitation:
1. It was released by the World Trade Organisation.
2. The overall score of India has been greater than many developed countries.
3. It is a bi-annual survey that deals with trade facilitation measures taken collectively by the
WTO member countries.
How many of the statement given above are correct:
(A) 1 only (B) 2 only
(C) Alll,2and3 (D) None
(E) Question not attempted
fefted ofit gEeaw ¢ HafTesm W e a9 § gafuq frafafaa et ot faem St
1. 39 faeT =R dwe g s foRan T e
2. A @ A9 @R dE fasmiad a9l o ST §
3. =% fgaie @d & i WTO % 9es 391 810 arfed &9 ¥ [ 18 < giaen 3uri § J6iHa 51
T 7T Suied weei ° § fhae M ES 7

(A) &ad 1 (B) %I 2

(C) 1,283 ad (D) =™ 9 Hig T (E)  ofgaia usd
7 Consider the following statements regarding the Corporate Debt Market Development Fund

(CDN[DF)

It will be established as an Alternative Investment Fund.
2. Contribution to the fund shall be mandatory for specified debt-oriented Mutual Fund Schemes
and Asset Management Companies.
3. Initially, it will be established for 5 years and can be extended as per SEBI’s mandate.
How many of the statements given above are correct?
(A) 1 only (B) 2 only
(C) Alll,2and3 (D) None
(E) Questlon not attempted
HMANEZ = ATh TaaH2 % (CDMDF) & "atia FrafaRaa wef wx fram #ifsg
1. % WUAT Jbfeads Frag Fin & s ® o s
2. i s-aiftdes =g e e @i o The Ao e HufEl & fau 59 % o aiem stfard i |
3. URHH, SHHI WY1 5 a9 % fow &7 SeAt i 9 (SEBI) % STt X ST S§ 1T Sl Sehll 3|
T 7T Suied woei ° § fha dem AR B Y
(A) e 1 (B) ¥aw 2
(C) 1,283 ad (D) =™ 9 Bz T (B)  ergafaued
8 Consider the following statements regarding the Foreign Portfolio Investment (FPI) in India:
1. It has fluctuated drastically in the past decade.
2. In2022-23, the net FPI in India was less than 1% of the GDP.
3. Foreign Exchange Management Act, 1999 is the primary legislation governing FPI in India.
How many of the statements given above are correct?
(A) Only 1 (B) Only 2
(C) All Three (D) None
(E) Question not attempted
AT § B drewiiaal g<eede (FPI) § gsfua Freafafaa saat ot faem sk
1. 3o fied 39@ ¥ 9eew &9 9 IaR-9emd goTl ¢ |
2. £ 2022-23 ®, WA H & THUISTE, Sieml & 1% 9 &9 o1
3.0 GBI THe Heme Tae, 1999 W H TwdieTs & MR & ar i e 2
fow TG SuTER wUAl W W fha HUA WElE 7
(A) &ad 1 (B) %I 2
(C) Th I (D) 379 § i T (B)  ergafaued

311y O 4 P.T.O.



9 Consider the following statements in reference to the fertilizers sector in India:

1. Sulphur-coated Urea, also commonly called Neam-coated Urea will help in addressing the
sulphur deficiency of the soil.

2. Fertilizer Flying Squads (FFS) was constituted to provide crop-wise recommendations of
fertilizers for individual farms.

How many of the statements given above are correct?

(A) 1 only (B) 2 only

(C) Both 1 and 2 only (D) None

(E) Question not attempted

T ® A% 47 & dad § Frafalaa et ¥ faem St

1. W;ﬁ%{ﬁmaﬁmﬂmﬁ:%aﬁ%@{%miﬁww%Gﬁﬂﬂﬁwaﬁ?ﬁraﬁq\'nmﬁw
H{AT T

2. WAk W @ars (FFS) & T SIav—aTaT Wl % (07T BEwait S Bl RIEyl B & fau
fepam T e

T 7T Suied weei ° § fhae M ES 7

(A) e 1 (B) e 2

(C) 182t (D) 3 ¥ g T

(E) g ued

10  Consider the following statements :

1. International Financial Corporation is an organ of World Bank to finance private sector in
developing countries.

2. ICIMOD - International Centre for Integrated Mountain Development is an inter-government
knowledge and learning centre situated in Switzerland.

3. All India Rural Financial Inclusion Survey is conducted by Reserve Bank of India (RBI)
every five years.

Which of the above statement(s) is/are correct?

(A) 1 and?2 only (B) 2 and3 only
(C) 1 only (D) All of the above
(E) Question not attempted

FrfaRaa s v famm @ifeo

s foir P Ty S 0t w3 SN fop faremrastie st # fstt &t bt faqaifta & & fog &)

2. SREHNAEUASIST — 3THIFA W2 HI 3T AT saaume Rageitas # Rua s
ST 3 ST fareror &% )

3. orRad A uHT i gHTea e gd et gY ura O o Tt S ot sfean (sediens) & e st

e
SUURT B H & B 91/H G 5/ 7
(A) e 1 8% 2 (B) %ad 2 &R 3
(C) &aw 1 (D) SuTie g+
(B) o17aia g

311y O 5 P.T.O.



11 Match the following List-I1 with List-II :

LIST-1 LIST-1I
1 Absolute Advantage a.  Paul Rosenstein Rodan
2. Theory of Big Push b.  Adam Smith
3. Theory of low level Equilibrium trap ~ ¢.  Richard R. Nelson
4. Balanced Growth Theory d.  Ragner Nurkse
Choose the correct option :
(A) 1-a,2-b,3-c,4-d (B) 1-b, 2-a, 3-d, 4-c
(C) 1-b, 2-a,3-c, 4-d (D) 1-d, 2-a, 3-c, 4-b
(E) Question not attempted
Freaferfiad i1 a1 geh-11 & firen iR -

-1 TH-11
I i a. i U e
2. fangu @ Resia b. ueH Ry
3. @ & dgen i & e c. Tas ar. Jwd
4. wgfea faem Rrera d T
el famed & g ¢
(A) 1-a,2-b,3-c,4-d (B) . 1-b, 2-a, 3-d, 4-c
(C) 1-b, 2-a,3-c, 4-d (D) 1-d, 2-a, 3-c, 4-b
(E) orgaiaued

12 Consider the following statements :

1. Gini Index is a graphical representation of the distribution of income or of wealth.

2. Higher the Gini Index, the greater the degree of income equality.

3. The value of Gini Index has increased amongst regular workers while it decreased among
casual workers in India as per India Wage Report.

Which of the statement(s) given above is/are correct?

(A) land2 (B) 2and3

(C) 3 only (D) All1,2and3
(E) Question not attempted

FrfaRaa s ux fommt @R

1. T $3o o a1 99 & faaer &1 us mithee freuer ¥
2. T gt fSaan st &0, ot S| ol T3 I &1 stfis &l |
3. e Io Ruk & oran wra # Frafa gfiel & 9 i Ssw &1 9 961 5, aie sreias gt

% e I% T2 )
faw T Suiea wul ® ¥ BF /Y 98 /R 7
(A) s8R 2 (B) 233
(C) %o« 3 (D) 1,233 gd
(E)  orgaia ued

311y O 6 P.T.O.



13

14

Which of the following features are associated with Regur Soils in India?

1.
2.
3.
4.

It develops on crystalline igneous rocks as a result of intense leaching.

It is rich in Iron, Potash and Phosphoric contents.

It is typically found in north-west region of Deccan plateau and made up of lava flows.
It is rich in calcium carbonate, magnesium, potash and lime.

How many of the statements given above are correct?

(A)
©
(E)

1 and 2 only (B) 2 and3 only
3 and 4 only (D) 1,2 and 4 only
Question not attempted

frrferfaa & @ SF—1 fasvar ara § TR g 9 gefaq $ 7

S

4.

TE T T % IROTH Wey fheead g gemi a fasiid g s

e ST, Ui ST BT Tl 8 JTYL 3 & |

e Y&d T § TFh U & SA{-UBH & | Uil Sl & SfiX I8 wramvars & FiHad sl 81
3O R HISME, FTHIE, Terd ST A1 HIgT A= | & o7 |

fag g STRiE wel ¥ s A ww ¥ 7

(A)
©
(E)

Had 1 8fix 2 (B) %a@ 2aT 3
Had 3 i 4 (D) %ad 1,2 3T 4
TR U

Which of the following characteristics is associated with red and yellow soils in India?

1.
2.
3.
4.

It develops on crystalline igneous rocks in area of heavy rainfall.

It develops a reddish colour due to diffusion of iron in crystalline and metamorphic rocks.
It develops yellow colour in hydrated forms.

It develops red and yellow colour due to iron and Sulphur in dry conditions.

How many of the statements given above are correct:

(A)
©
(E)

1 and 2 only (B) 2 and3 only
3 and 4 only (D) 1,2 and 4 only
Question not attempted

fereferfad ® | ®iF-a ferstornd s # ot i el a1 | geiferd ¥ 7

S

4

T offer i arel & H fpteda o gt u fawiaa s ¥

T% fpree iR wriaid a5l & ST % fewge & Heer @t 47 @l & 9 §1
T% B53es HiH o diar T ad §1

e g% RAf o SR S T@hT b BILOT AT S Gl 31 Wl & |

T 7T Suied ®owi A § fhae M ES ¥ 7

(A)
(©)
(B)

31 en O

FHad 1 8fiT 2 (B) %a@ 2 &3
Had 3 AR 4 (D) haw 1,234

R GIEG AR

7 P.T.O.



15  Consider the following statement : There is renewed thrust on production of Millet Crops. Which
of the following statement(s) is/are attributable to Ragi Crop?
1. Ragi is rain-fed crop and mostly grows well in black soil.
2. Ragi grows well on red, black, sandy, loamy and shallow black soil.
3. It is crop of dry regions and rich in iron, calcium and roughage.
4. Karnataka, Tamil Nadu, Jharkhand, Rajasthan and Arunachal Pradesh are major ragiproducing

states.
How many of the statements given above are correct?
(A) 1 and3 only (B) 2 and3 only
(C) 2,3 and 4 only (D) 1,3 and 4 only

(E) Question not attempted
FrrferRaa weel X foam ST @ fee waw & Ided uT etfie iR G w)

frfalad & @ -8 B Wi v ¥ gatad 32 ?

1. Tl ool Senid BHd & ST STfaehay Srel ga1 § 8T § I8! o

2. O A, H, W, g of Ul diel gaT | o ¥ Sedl 5 |

3. UE % & Bl HEW ¢ ST S, Hicyrad ST Saisr (ThsT) F AT 8l 8|
4. FicH, AN, TGS, VORI ST SFEOTE T8 TSR & T T T & |

fow Mo SuRreR we § ¥ foha we AR B 7
(A) %Haw 18R 3 (B) %aw 2 3R 3
(C) ®aw 2,3 iR 4 (D) e 1, 3 s 4
(E) orgaiaued
16  Match List I with List 1T :

List I List 11
a.  Endangered Species 1. Desert sheep and hornbill
b.  Vulnerable Species ii.  Blue Sheep
c.  Rare Species iii.  Lion Tailed Macaque
d.  Extinct Species iv.  Pink headed duck
Choose the correct answer from the options given below:
(A) a-iii, b-i, c-iv, d-ii (B) a-iii, b-ii, c-i, d-iv
(C) a-ii, b-1, c-iv, d-iii (D) a-iv, b-iii, c-i, d-ii
(E) Question not attempted
Tt [ ot e g 11 & &t

1 T 11
a.  fgaum: gty L AR 9 S A
b, ol w i A
c. g i, e A
d. s gsiid iv. T AR A aad
T few U fqeedi & O T8 ST B A BT
(A) “a-iii, b-i, c-iv, d-ii (B) a-iii, b-ii, c-i, d-iv
(C) a-ii, b-1, c-iv, d-iii (D) a-iv, b-iii, c-i, d-ii
(E)  orgaia ued

311y O 8 P.T.O.



17  Match List I with List 11 :

List 1 List 1T
a.  Iron ore Mines 1. Balaghat
b.  Copper Mines ii.  Amarkantak Plateau
c.  Bauxite Mines iii.  Gua and Noamundi
d.  Mica Mines iv.  Nellore
Choose the correct answer from the options given below:
(A) a-iii, b-ii, c-i, d-iv (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii
(E) Question not attempted
Tt [ ot e g 11| &t

w1 w1
a. W TG B G| i, SR
b. dN@HEA i, oTH{hed B
c. TIEES B G iii. T ST A
d. 9% & @\ iv. A
T faw o feeedt o O 98 ST BT 99 BT
(A) a-iii, b-ii, c-i, d-iv (B). a-ii, b-i, c-iii, d-iv
(C) a-iii, b-i, c-ii, d-iv (D) a-i, b-iii, c-iv, d-ii

(E) orgaiaued

18 Consider the following statements:
1.  Copper, Lead, Tin and Bauxite are non-ferrous minerals.
2. Manganese, Iron, Cobalt and Mica are ferrous minerals.
3.  Potash, Marble and Granite are non-metallic minerals.
4. Nickel, Cobalt and Platinum are precious metals.
How many of the statements given above are correct?

(A) 1 and3 only (B) 1 and 4 only
(C) 2 and3 only (D) 2,3 and 4 only
(E) Question not attempted

Frferaa weAl o foamt st

1. dfan, g, 7 ofiX dfeamge otre @it 8 |
2. HIS, AR, BN SR STYH B G § |
3. Ui, A i Age Sreieash @it ¥ |

4. fed, B 8 <o Tg e 4gu ¢ |

T AT Suiea wowi ° § fpae M ES £ 7
(A) o 1 R 3 (B) %o 1 3R 4
(C) %aw 28R 3 (D) e 2,3 s 4

(B) o17aia g
311y O 9 P.T.O.
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Consider the following statements :

1. Kandla port also known as Sardar Patel Port is a tidal port.

2. Marmagao port is for the premier Iron ore export.

3. Chennai is one of the oldest artificial ports of the country.

4. Paradwip port specializes in the export of Mica in the country.
How many of the statements given above are correct?

(A) 1 and3 only (B) 2 and3 only
(C) 3 and4 only (D) 2,3 and 4 only
(E) Question not attempted

FrfaRaa semf ut famme @ik

1. hedr 91, GRE Ued UiE & A | | ST S &, I8 U o §<OTE & |
2. TSN SRS WE STET 3% i & AT 5
3.

TS 39T F YU BOW TR H | TH §
4. YIS SRCME 91§ AgH & Frata & fae S s $)
T T ST wuAl ¥ 9 foha wuA W E ?
(A) %Haw 18R 3 (B) %aw 28R 3
(C) haw 3 3T 4 (D). ®aw 2, 3 3R 4
(E) orgaiaued

Consider the following statements relating to our Solar System :
1. Saptarishi forms part of constellation Big Bear.

2. Saptarishi forms part of the constellation Ursa Major.

3. Asteroids Belt lies between orbits of Mars and Earth.

4. The largest asteroid is Ceres.

How many of the statements given above are correct?

(A) 1 and?2 only (B) 2 and3 only
(C) 3 and4 only (D) 1,2 and 4 only
(E) Question not attempted

T W Hew ¥ Gt frefnad wo R B

1. o=y T RER amved & e S §)

2. AR ITE HST AEUSH B &6l S §

3. gaue So "W iR el o wenel & Hed Rerd B

4. 9y ge1 gaue X (Cere) B

T Tu Sued wuAl ¥ 9 foha waA wRI € ?

(A) e 1 3R 2 (B) %ad 2 3R 3
(C) haw 3 3T 4 (D) a1, 2 3R 4
(E)  orgaia ued

311y O 10 P.T.O.
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Match List I with List T :

List I
a.  Shipki Lake
b.  Lipu Leke
c. Jelep La
d.  Burzil

i.
ii.
iii.
iv.

List 11

Kashmir
Himachal Pradesh
Uttarakhand
Sikkim

Choose the correct answer from the options given below:

(A) a-iii, b-ii, c-iv, d-i
(C)  a-iii, b-ii, c-i, d-iv
(E) Question not attempted

Tl 1 1 fre e 1 St
eIl |

a. T o

b. Y s

c. Swudn

d =i

T faw o feeedt o O 98 ST BT 99 BT
(A) a-iii, b-ii, c-iv, d-i
(C) adiii, b-ii, c-i, d-iv

(E) orgaiaued

Match List I with List IT :
List I

a.  Copper and Nickel

b.  Chromite and platinum

c.  Phosphate

d.  Limestone

(B)
(D)

ii.
iil.

iv.

(B)
D)

i.
ii.
iii.
iv.

a-ii, b-iii, c-iv, d-1
a-iii, b-i, c-ii, d-iv

T I
B
fewTae ey
SATGS
faforpa

a-11, b-iii, c-iv, d-1
a-iit, b-i, c-ii, d-iv

List 11
South—Africa
Ontario
Caucasus
Algeria

Choose the correct answer from the options given below :

(A) a-ii, b-i, c-iv, d-iii
(C) a-iii, b-iv, c-ii, d-i
(E) Question not attempted

Tt [ ot e g 1| &ifa
T I

a.  qrar oY Frew

b. ®MERES R wiem

C. TI@hT

d  gEIuer

T few o faepedi o O 98 ST @1 99 BT
(A)“a-ii, b-i, c-iv, d-iii
(C)  aiii, b-iv, c-ii, d-i

(E) o17aia e

31 en O
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(B)
(D)

ii.
iii.

iv.

(B)
(D)

a-1, b-i1, c-iii, d-iv
a-ii,b-1,c-ii,d-1v

T 11
ghRuT—sThieeT
S IEAre||

B T
ST T

a-1, b-i1, c-iii, d-iv
a-ii,b-1,c-ii,d-1v

P.T.O.



23

24

Match List I with List T :

List I List 1T
a. Veld 1. Brazil
b.  Pampas ii.  South—Africa
c.  Compos iii. North—America
d.  Prairie iv.  South—America
Choose the correct answer from the options given below:
(A) a-ii, b-i, c-iv, d-iii (B) a-iii, b-iv, c-i, d-ii
(C) a-iv, b-ii, c-iii, d-i (D) a-ii, b-iv, c-i, d-iii
(E) Question not attempted
Tt [ ot e g 11| &t

T 1 T 11
a. IS i e
b. Y™ ii.  aferoT—atfhem
c.  HH i, SAC—STHAH
d o iv.  aferor—eri
T faw o feeedt o O 98 ST BT 99 BT
(A) a-ii, b-i, c-iv, d-iii (B) a-iiiy b-iv, c-i, d-ii
(C) a-iv, b-ii, c-iii, d-i (D) a-ii, b-iv, c-i, d-iii

(E) orgaiaued

Consider the following statements :

Statement-1 : The Jet Streams are the strong cores of upper-level westerly winds which follow
a meandering path.
Statement-1I:  The term ‘jet stream’ was first applied to high velocity upper-level winds during

World War-11.
How many of the statements given above are correct?
(A) Statement-I and Statement-II both are correct.
(B) Statement-I is correct but Statement-II is incorrect.
(C) Statement-I is incorrect but Statement-1I is correct.
(D) Statement-I and Statement-II both are incorrect.
(E) Question not attempted
FrfaRaa sy faamr @ifso
FIA-1. S TRE HIU WO I8t sarell & AoTgd B old ©, 511 faadl g8 &1 ST & ¢ |
FA-1I SE €M 9 &l 99 a-11 % SO S0 9 & SO0 W gde & [y qedl a1 YA fea T
1l
fag g STRiE HeAl § o A wE g 7
(A) wu 1 & wae 11 I 98 %)
(B) %9 [ 98 ¥ AT % 11 7T 3
(C) & 17T ¢ @i s 11981 3
(D) %o 13X e 11 2 e 2 |

(B) orgaia g

311y O 12 P.T.O.
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Match List I with List T :

List 1
a Mountain Breeze
b Chinook
C. Simoom
d Sirocco

i.
ii.
iii.
iv.

List 11
Sahara Desert
Katabatic
Snow Eater

Asiatic and African Desert

Choose the correct answer from the options given below :

(A) a-iii,b-ii,c-iv,d-i
(C) a-iii,b-i,c-i1,d-iv
(E) Question not attempted

Tt [ ot e g 11| &t
eIl |

a.  TEd bR

b. R (7)

c. T

d Rl

T faw o feeedt o O 98 ST BT 99 BT
(A)  a-iii,b-ii,c-iv,d-i
(C)  a-iii,b-i,c-ii,d-iv

(E) orgaiaued

Match List I with List II
List 1

a.  Angel Falls

b.  Yosemite Falls

Niagra Falls
Victoria Falls

e o

(B)
(D)

il.
1ii.
iv.

(B)
D)

i.
ii.
iii.
iv.

a-i,b-ii,c-1v,d-1
a-1v,b-1,c-ii1,d-11

T 11

ET 7o
Heafes

@l 5

TR S Stfthan! Howed

a-11,b-111,c-1v,d-1
a-1v,b-1,c-ii1,d-11

List 11
Venezuela
California

South Africa
USA and Canada

Choose the correct answer from the options given below:

(A) a-i, b-ii, c-iv, d-iii
(C) a-iii, b-iv, c-ii, d-i
(E) Question not attempted

Tt L a1 e gei 19 sl
eIl |

a.  Uod U

b.  aERE YU

c. Framnmyum

d. faeeifcn yua

Ty fow 1w faeped & € TR ST B AT BT ¢
(A)“a-i, b-ii, c-iv, d-iii
(C)  aiii, b-iv, c-ii, d-i

(E) o17aia e

31 en O
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(B)
(D)

il.
1ii.
iv.

(B)
(D)

a-ii, b-1, c-iii, d-iv
a-1v, b-iii, c-i, d-i

w11
EAREAIRR |

heOT STfdheht
UHY 3R HATE

a-ii, b-1, c-iii, d-iv
a-1v, b-iii, c-i, d-i

P.T.O.



27  Match List I with List 11

List I List 1T
a.  Bird Foot Delta 1. Mackenzie
b.  Estuarine Delta ii.  Mississippi
c.  Triple Delta iii. Mahanadi delta
d.  Arcuate Delta iv.  Nile Delta
Choose the correct answer from the options given below :
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-iv, c-i, d-ii (D) a-iv, b-iii, c-ii, d-i
(E) Question not attempted
Tt [ ot e g 11| &t

T 1 T 11
2 Wi i A
b. THEUE swT i, P
c. foua s iii. AEMA T
d.  omRue ST iv. S
T faw o feeedt o O 98 ST BT 99 BT
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b, c-iii, d-iv
(C) a-iii, b-iv, c-i, d-ii (D) a-iv, b-iii, c-ii, d-i

(E) orgaiaued

28 Consider the following statements:
Statement I : The ancient Buddha (Bauddh) Stupa is situated on the west side of Brahmasarovar.
Statement II : The mound is spread over an area of approx. three acres. The height of the mound
is about 4 m from the surrounding ground level.
In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement-I and Statement-II are correct and Statement-I1I is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-I1I are correct but Statement-II is not the correct explanation
for Statement-1 .

(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

Frrferiaa e 9x foam #ifea:

FIT ] U S WY SEEUER B 9 e ¥ Red §)

HI 11 A T A Tos H Bl oM ¢ | AISS STTEuTd & ST WX & THT 4 m &l Sa1 9|
SR B ®I G H @ 3T, i 1 faeedl o 9 981 39X & 999 i
(A) 3 HeA-1 ST HeA-11 T8l § qa1 He-11 He-1 1 T8l WEH § |

(B) AT HUA-1 3R HUA-11 T8I ¥ Wb wem-11 He-1 %1 981 Wil T8 3 |
(C) " HA-1 T2 T wieh HeA-11 TTad §1

(D) ®¥-17wd & Wih HeA-11 Fe1 5|

(E)  orgaia ued
311y O 14 P.T.O.
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30

31

Consider the following pairs:

1.  Aram-i-Kausar : Narnaul 2. Tomb of Sheikh Tayyab : Kaithal
3. Bhai ki Baoli : Meham(Rohtak)

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frrefaiaa gr ax faem Sk

1. STUH-—T-—®HE @ AT 2. 9/ AU B GHIY : AT

3. WE Bl SISl - HeH (Usdd)

S T Y e g g 7

(A) %ad TH TH (B) a1 g™

(C) wfid=l g™ (D) I BE AgETE (E) ogaika usd

Consider the following statements about Bhumia or Khera:

L It is the god of the homestead or the village.

II.  Bhumia is worshipped at the time of marriage.

I  First milk of cow or buffalo is always offered to Bhumia.

How many of the statements given above is/ are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

qfrar a7 @7 % N H Frefataa el o e s

L 9% BMws Aq1 g &l o 8|

0. i &l gon foare & a9 &l S 8

NI T o o &1 9eal 39 9l AT Bl G e s §1

ferg T IRt wo W @ foha e wR ¥R 7
(A) had TH BUT T B (B) ad 3 HIT T )
(C) =il I B TRl ) (D) aEMFFA T TS| (E)  ogaika usd
Match List I and List I1:

List I List 1T
a.  Ghethi 1. Milking animal
b.  Laggar ii.  Outer house
c. Basan iii.  Neck
d.  Nohra iv.  Pitcher
Select the correct option from the following given options:
(A) a-i, b-ii, c-iii, d-iv (B) a-iii, b-i, c-iv, d-ii
(C) a-iv, b-i, c-iii, d-ii (D) a-ii, b-iii, c-iv, d-i
(E) Question not attempted
Tt Lot e 1§ fee &t

w1 w1
a. 93 (Ghethi) i TU I WAy
b. @R (Laggar) i, 9 ER
c. s (Basan) iii. A
d.  ArEw (Nohra) iv. @
T fou U fqeeent o W TE ST BT 99N BT
(A) “a-i, b-ii, c-iii, d-iv (B) a-iii, b-i, c-iv, d-ii
(C) a-iv, b-i, c-iii, d-ii (D) a-ii, b-iii, c-iv, d-i
(B) - or7aia e

311y O 15 P.T.O.
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33

Consider the following statements:

1. The finest and the best preserved Baoli in Haryana is in Meham.

2. The coin moulds of the later Youdheyas of the third-fourth centuriesA.D. have been found in
large numbers from Rohtak.

3. Animage of Kartikeya sitting in lalitasana on a peacock has been discovered from Khokrakot.

How many of the statements given above is/ are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three satatements are correct. (D) None of the statements is correct.
(E) Question not attempted

Frrferiaa el 9x foam i

1. shaen ¥ deqie oY 999 S Il 980 | )
2. dEO-—ate gl 3. % 915 & drgAl & Al & G Usas o Sifae T T )
3. A X AAEd ¥ S HIRIGT B R Dl @IS GEhIbe 8 H T 2|

faw T Ui wue H @ feam dEm wA B/ 7

(A) %ad TH HIT T ) (B) o I HYT TRl T |
(C) =il I B TRl ) (D) &3 i B T T T
(E) orgaiaued

Consider the following Statements:
Arrange the following intangible cultural heritages in order of their year of induction into the
UNESCO heritage list (Oldest to Newest):

Kalbelia

Budhist Chanting

Ramlila

Kumbh Mela

. Nowrouz

Choose the correct option from the following:

(A) 3,1,2,5 4 B) 1,
©) 3,4,5,2, 1 D) 2,
(E) Question not attempted

Frrferiaa el 9x o i

frrafaRaa e wifas a0 # gaws (UNESCO) et gl & 939 & ad & %9 § (QUH § -0)
arafier AR

EASCINE

Sitfegeh HATAoT

RIS

H9 Al

K

Frefferfan & T fee 1 g

(A)93,1,2,5, 4 B) 1
(C) 3,4,521 D) 2

2 2 2 2

(E) - oT7aia e

A S e

3,
1

N

311y O 16 P.T.O.
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Consider the following statements:

Statement I : A raga is associated with a specific mood, time of the day and season. For every
raga there are six female consorts called raginis.

Statement Il :  Ragamala paintings are pictorial interpretations of ragas and raginis.

How many of the statements given above are correct?

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct but Statement II is incorrect.

(D) Statement I is incorrect but Statement II is correct.

(E) Question not attempted

freaftad el T fEr s

w1 777 Fafe weeen, R % wa o Hiem | Heia ¥ 9 W & g BT i s B §
AT e S % |

Ho 1L ;. I Ut I SR O] 6 e e § )

g g SURiERT wel W ¥ e wme wE 7

(A) @¥-1 37X HuA-11 391 T ¥

(B) ®A-I 3 HYA-11 T Tad & |

(C) %oA-1 92 ¢ wieh HeA-11 TTad §1

(D) ®¥A-17wa & Wih HeA-11 T 5|

(E) orgaiaued

Consider the following statements:

1.  Aditya-L1, a space observatory with 9 payloads designed to study the Sun.

2. The VELC will take image the.Sun’s atmosphere, the Corona at high resolution and time
cadence.

3. Aditya-LI carries an ultraviolet imager, 3 X-ray spectrometer and four in -situ instruments to
measure plasma parameters.

How many of the statements given above are correct?

(A)  Only one statement is correct. (B)  Only two statements are correct.
(C)  All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

FrrferRaa e 9x foam S

1. 9Udied & WY siife-L 1, sfafker Jusmer ol g &l ST & & e feemga fean @ 7

2. VELC §d &% uf{vsd, S {edeM ST TEH heq IX BT &l i @ |

3. ofeed-L1 S o AR ot }Ioe o T U Stegiendiele ST, 3 e WA o A g-Tig
JUBON Bl T fopaT T

fam o e wue § € fhae BUT RN R 7

(A) " HId TH HIT T 2| (B) I a1 %Y Gl |
(C) T I B TRl ) (D) &3 i B T T T
(E) orgaia ued

311y O 17 P.T.O.



36 Consider the following pairs :

1.  CREST: Hosakote

2. Solar Observatory: Kodaikanal

3. Radio Observatory: Gauribidanur

How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

freferRaa gt wx fomm Hifsw:

1. & (CREST) : gr@mie (Hosakote)

2. R Igmar : HeEdIw (Kodaikanal)

3. XA Auamar @ AREER (Gauribidanur)

SR gt § | fepa g @ gefaa € 7

(A) %ad TH TH (B) %aa a1 g™

(C) @it art g (D) sWIAHE M (E)
37  Consider the following pairs :

1. Intelligent Waterbody Management Project : Tamara

2. AMRUT 2.0 : Preserving surface and ground water bodies

3. PLASHBOT : Diffuser Aerators for bottom of water bodies

How many of the above pairs are correctly matched?

(A) Only one pair (B) . Only two pairs

(C)  All three pairs (D) None of the pairs

(E) Question not attempted

freferRaa gt wx fomm Hifsw:

1. Fdee areare §eH e dierde | qamr(Tamara)

2. oHEd 2.0 G SR ot Ml @l e

3. PLASHBOT : arx Siesl % da.& fau ko aae

SUER gt § | fepa g @ gAfea § 7

(A) %ad TH TH (B) a1 g™

(C) @it art g (D) sWIAFE Mg (E)
38 Consider the following pairs :

1.  Advika : Chickpea

2. Panchamrit : India’s Climate Action Plan

3. Mission Life : Life Style in harmony with ecological well-being

How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs

(C)  All three pairs (D) None of the pairs

(E) Question not attempted

fFrrefaiaa gt o faem @ik

1.  offg®n (Advika) : foedy

2. damd (Panchamrit) : 9IXd &1 FAGHE TFM W

3.0 fa LiFE : wiftRerfies seamor & qrer sefsl & siaq gl

SUe gt o ¥ fepa g @ gAfaa € 7

(A) wed UH g™ (B) %aw I g™

(C) at it g (D) sWIAFE Mg (E)
31 en O 18

TR U

TR U

TR U
P.T.O.
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Consider the following pairs :

1.  BHARAT: Agri Infra Fund

2. Longpi pottery: Chhattisgarh

3. Sulur Bamboo Wind Flute: Manipur

How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs
(C)  All three pairs D)  None of the pairs
(E) Question not attempted

Frerfrfa gt R e iR

| 9 (BHARAT) : wh 5561 e
2. QT PR BT
3.  ggx ata (Bamboo) i wqe : AR

SUER gt o fopaw g we gAfaa § 7

(A) ad TH gH (B) a3 g™

(C) widi gm (D) 3™ A Hi g™ &
(E) orgaiaued

Consider the following statements relating to free coaching scheme under the umbrella scheme
‘SHREYAS’:

1. It provides coaching of good quality for economically disadvantaged SCs, OBCs and
Minorities.

2. The ceiling of total family income under the scheme is Rs 8 Lakhs per annum.

3. The ratio of SC and OBC students is 70: 30 and 30 percent seats are reserved for females in
each category.

4. The ratio of SCs, OBCsand minority students have been fixed at 50 : 30 : 20.

How many of the statements given above are correct?

(A) 1,2and3 only (B) 1,2 and 4 only

(C) 2 and3 only (D) 2 and 4 only

(E) Question not attempted

‘SHREYAS’ SsIell Aiei1 o qed 0 BT Arer1 & Farad Frefarad weml 91 i@ s

1. 3% oniie 9 9 dfaa o @Y, o & 91 ofiR STeTHEasdl Bl STl Urad &l SR Y& BT & Y 51
2. JIeMI % T80 UNER Bl F STl STaad T Jiaa &, 8 1 2 |

3. wEH o ot & 9 faenRiay @ sgura 70: 30 ¥ i udd S H 30% € Afeasti & g ok B |
4. wEE, S A G SR STewHEd el & egura 50 30 0 20 % ®H H fFaiia fEa g

T Tu SueR wuAl A foha weA W € ?

(A) whad 1, 2 3T 3 (B) haw 1,234
(C) %a@ 2 &3 (D) %I 2 3iT 4
(B)  orgaia ued

311y O 19 P.T.O.
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Consider the following Statements relating to Pradhan Mantri Jan Dhan Yojna (PMJDY). It is
intended to -

1. Provide access to financial and social services at an affordable cost.

2. Use of technology to lower cost and wider reach.

3. Opening of basic saving bank deposit account in camp mode with minimum balance of
Rs. 500 and zero charges.

4. Issuance of Indigenous Debit Card.

How many of the statements given above are correct?

(A) 1 and3 only (B) 1 and 4 only

(C) 2 and4 only (D) 1,2,3and 4

(E) Question not attempted

Al 91 99 1 (PMIDY) ¥ gefua Frefafaa semi o faam st

1. 39 3599 Fori SiR |risTes Tatetl &1 aaTard Jod U UaM Bl 51

2. Tl & T A SR fawga wge a% U HE |

3. FUHE ¥ AW S0 8. 500 ST A 7 § SR 9 S S @ @i |
4, wash e wE S wE

T 7T Ui wee B ¥ fhae AR A ® 7

(A) %aw 183 (B) a1 &R 4
(C) a2 &R 4 (D). 1,2,33i4
(E) orgaiaued

Considered the following statements:

1.  Samudra Gupta's "Vyagrashaili' postures reveal his conquest of the West.

2. The coins of the Ashoka era give us information about his 'governance system'.

3. On one of the seals of Satavahana King Shatakarni, a picture of a 'ship' is engraved, which is
a symbol of his victory over the sea.

4. Information about Ashvamedha Yagya is found in the coins of Kumargupta's 'Ashvamedha

style'.
How many of the statements given above are correct?
(A) 1 and?2 only (B) 2 and3 only
(C) 3 and4 only (D) 1,2 and 4 only
(E) Question not attempted
FrfaRaa semf o famm @ik

1. |UET< & AL GRS F 3! UiyeH! [ &1 an S § |

2. 9% g % TAanl ¥ IHS! O TSR B B S B 8

3. WErsT w9l Al S Th G U ‘SAu’ & (o Sahiel &, S 3Hs 99F fasr &1 Wi ¢ |
4. FHETCK B ‘ATHY Jol & ool 9 Ayaqy a9 B Far Hed 5|

T AT Suiea wowi ° § feae M ES ¥ 7

(A) o 1 3R 2 (B) %ad 2 3R 3
(C) %ad 3 &R 4 (D) a1, 2 3R 4
(E). oT7aia ued

311y O 20 P.T.O.
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Match List I with List II;

List I List 1T
a.  Abul Hasan al Hujwiri 1. Munis Al Akhaah
b.  Kuli Khan ii.  Fawaid Al Fuad
c.  Jahanara iii.  kashf ul Mahjub
d.  Ameer Hassan Sijji Dehlavi iv.  Murakka-E-Delhi
Tl [ a1 e g 1 & i

Tl w1
a. O BET e golradl i g o srams
b. FEiEA ii. waAEE 3 HOE
c. SR A iii. %% S HES
d. o sa fassil ewar iv. glEm-g-—aeal

Choose the correct answer from the options given below:

T faw o feeedt o O 98 ST BT 99 BT

(A) a-ii, b-iii, c-iv, d-i (B) " a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D) a-iii; b-iv, c-i, d-ii
(E) Question not attempted / STTANT T

Match List I with List II:
List I List IT
a. Dimun 1. Sindh Area
b.  Makan ii.  Mesopotamian Port
c.  Meluha iii.  Bahrain Island
d Ur iv.  Makran Coast (Balochistan)
Tl [ a1 e g 1 & i
w1 w1
a. faA i. frawmy
b.  HHT WHN ii.  wEEEmE Raq sEome
c. Hgd iii. w&w g
d iv. A®HUE A (SEEH)

Choose the correct answer from the options given below:

T fow T feeedt o O 98 ST BT 99 BT

(A). a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D) a-iii, b-iv, c-i, d-ii
(E). . Question not attempted / STTANT T

31 en O 21

P.T.O.
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Match List I with List I1:

List I List II
a.  Nishad i Karawar
b.  Charmakar ii.  Mehtar
c.  Mchhuaaro iii.  Kaiwart
d.  Pukkus or Paulkus iv.  Aakhetak
Tl [ a1 e g 1 & i

T 1 T 11
a. e i, &
b. @H&R i, ¥Ea
c. A iii. e
d.  Yaga @ dagd iv. e

Choose the correct answer from the options given below:

T faw o feeedt o O 98 ST BT 99 BT

(A) a-ii, b-iii, c-iv, d-i (B) "a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D) a-i, b-iv, c-iii, d-ii
(E) Question not attempted / STTANT T

Match List I with List II:
List I List 11
a. Jogalthambi 1. Nashik (Maharashtra)
b.  Devbarnak ii.  Bijapur (Karnataka)
c.  Devarashtra iii.  Vishakhapattnam (Andhra Pradesh)
d.  Pattadakal iv.  Shahabad (Bihar)
Tl [ a1 e g 1 & i
T 1 T 11
a. ST i, I (TETE)
b, dgeiE i, g ()
c. IaUE iii. fagmemeem (s7y weq)
d.  u=wHd iv. gmEERE (Er)

Choose the correct answer from the options given below:

T fau U fqeeedt o O 98 ST BT 99 BT

(A). a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D) a-i, b-iv, c-iii, d-ii
(E) - Question not attempted / STTANT T

31 en O 22

P.T.O.



47  Given below are two statements:

Statement I : The Virupaksha temple was built in the sixteenth century.

Statement II : The pavilion in front of the Virupaksha temple was built during the time of
Krishnadev Rai.

In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement I and Statement II are true.

(B) Both Statement I and Statement II are false.

(C) Statement I is correct but Statement 11 is false.

(D) Statement I is incorrect but Statement II is true.

(E) Question not attempted

Fra a1 we faw o #:

FA1 : faeme 9 @ i deaEr ga 3 gan an

FAIL : faewme 9 & gme 991 539 @1 i $eea T 6 a9d | g3 Al

SUTER B! B M § W@ g4, T AU T fqemedl § ¥ 9 ST BT DI

(A) U 1 ST % 1139 91 ¥

(B) o 1 3R e 11 3 et 2 |

(C) e G2 & wifeh e 11 Trerat 3

(D) &¥F 17 & Wi B 1L T8l 51

(E) orgaiaued

48  Given below are two statements:
Statement I : Bhakti saint Shankardev addressed ‘Vaishnav Dharma’ as ‘Bhagwati Dharma’.
Statement II : Shankardev's main composition is Kirtanaghosh.
In the light of the above statements, choose the correct answer from the options given below:
(A) Both Statement I and Statement IT are true.
(B) Both Statement I and Statement II are false.
(C) Statement I is correct but-Statement 11 is false.
(D) Statement I is incorrect but Statement 11 is true.
(E) Question not attempted
I & Be faw o
FEI ;9 T e T A O B ATE 99 HehT aid fha
FAI ;6T B @ T BITE 5
SURIERT B! Bl LA | WA §Y, T 14T Y fasedi § § T2l S b1 T8 I
(A) HIF L8 ®a 113 T2 ¥
(B) - %o 13X e 11 2 e 2 |
(C).. %o 1 |1 & Al e 11 71dq 3
(D) &¥F 1 7q & Wi B 1L Wl 51

(E). - oT7aia e

311y O 23 P.T.O.



49  Consider the following statements :
1. The Puranas call the Satvahanas ‘Andhrabhritya’ and ‘Andhrajatya’.
2. The history of Satvahanas is especially found in Vishnu and Bhagwat Purana.
3. Names of more than a hundred kings of Satvahanas are found in the Puranas.
How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
freferiad sl T famm st
1. gon o |idarE! b Suga’ T HUS HwEd § |
2. Haaredl & e O] Td qrrEd g | faey ' o Rt 5
3. YUl ¥ Aiqared! & 9l 9 S Tenet & M e g |
fag g STRiE wel ¥ s A ww ¥ 7
(A) %ad TH HIT T ) (B) | %aw I BUT T E)
(C) =il A1 B TRl ) (D) ®IE oY BT GE TR B
(E) orgaiaued
50 Consider the following statements :
1.  Kabir Granthawali is related to Dadupanthies of Rajasthan.
2. Meera's teacher Raidas was a weaver.
3. Malik Mohammad Jayasi promoted the establishment of prayer halls like Namghar.
How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
frreferRad wmeml oy forem #ifs:
1. ®ER demEd & S8 TeRd™ & Igurl 4 5
2. WU % T & oA 9|
3. Wi AlewE Sl S AITER S UiATE Sl WAl Sl Serdl |
faT Tw Sy wuAl ¥ 9 foha wuA wRI € ?
(A) %ad TH HIT T ) (B) aw I BUT TEl F)
(C) i 91 B TRl ) (D) &g Y BUT GE TR B
(E) - oT7aRa e
31 en O 24

P.T.O.



51 Consider the following statements :
1. The selection of the Vijayanagara site was inspired by the existence of the Virupaksha temple.
2. Vijayanagara was established near the Pampadevi temple.
3. ‘Shri Pampay Namah’ inscription has been found on the Vijaynagara coins:
How many of the statements given above are correct?
(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
frreferRad wmeml oX frem @i
1. TR e @ g faeae JiT % st @ 9ia e
2. UmEl Hie % U fOSTER @l S| T o
3. fooTr % Ryeel 9X ‘T T T st e §)

fag g STRiE wel ¥ s A ww ¥ 7
(A) %ad TH HIT T ) (B) | %aw I BUT T E)
(C) =il A1 B TRl ) (D) ®IE oY BT GE TR B
(E) orgaiaued
52 Consider the following pairs :
1. Pratihar King Bhoj . ~Gwalior Inscription
2. Satavahana King Pulumavi :. Nasik Inscription
3. Hun King Toraman . Eran Varaha Inscription

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Foerfefiat gt g ferg s

1. OfeR a9 L AT St

2. Qqared e At e IE K el

3. OO A ;T 9E Ay

SRR I & P gl g ¥ 7

(A) ¥ wH g (B) Faw g

(C) o it g (D) =¥ & g+t g T
(E) - oT7aRa e

311y O 25 P.T.O.
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54

Consider the following pairs :

1. Mulfuzat Conversations of Sufi Saints
2. Maktubat : Recollection of biographies of Sufi saints
3.  Tazkiras Compilation of written letters

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Foerfefiat gt ¢ e s

. gage . g Edl &l e

2. "wagEW o gl Edl @l Siarrl e

3. a=iteq S (S e TR RS A |

SR T P g g ¥ 7

(A) ¥ TH g (B) %aw @ g

(©) =T g (D) =T & g ot g T
(E) orgaiaued

Consider the following pairs :

1.  Dar-ul-Adal : Place of Justice

2. Balahar ; Low class agricultural labourer

3. Malikut-Tujjar Chief of traders

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frefefiad gt o fo AR

1. Q33T : 1T Bl ¥

2. TEBR o = gl @ iy weie

3. AfdHA-—geIR 0 Sl B 9HH

SRR I & P gl g ¥ 7

(A) ¥ wH g (B) Faw g

(©) @ g (D) =¥ & g+t g T
(E) - oT7aRa e

311y O 26 P.T.O.



5§

56

Consider the following pairs :

1. Leader of the revolution in 1857 in Ahirwal (Haryana) : Rao Tularam
2. Leader of the revolution in 1857 in Faridabad (Haryana) : Dhanu Singh
3. Leader of the revolution in Hansi (Haryana) in 1857 ; Imam Ali Qalandar
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

Frerferfiaa i v Free AT

1. orfecam (sfmom) & 1857 ® wifd & = : Ta A

2. wlgEe (ghwmm) & 1857 ® wifq & Jar : g i

3. i (sfamm) § 1857 # whifd & Aar : ZHTY 3Tell BHATL
SR T P g g ¥ 7

(A) ¥ TH g (B) awdrgm

(©) =T g (D) 578 & arg ot g T

(E) orgaiaued

Consider the following statements :
1.  In 1676, Shivaji crowned himself formally at Rajgarh.
2. The Karnataka expedition was the last major expedition of Shivaji.

3. In 1678, Shivaji campaigned against Karnakata and forced Qutb Shah to pay a subsidy of one
lakh huns.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

frreferRad wmel X e Sy

1. 16769 frersil Tsie # et &9 9 TH1E 54 |

2. @Aied AHAE fiEmh g sifom w1 st o

3. 1678H firamil i & faeg ST e I 8fR $Ja 91T &l UF A1@ g i Afsas! Y &3 &
o7 AreTeY fepam

T 7o Suxied wowi H § fhae M ES 7

(A) Had TH HIT T ) (B) %ad &1 HYT TR T |
(C) qfi 91 B TRl ) (D) &g Y BUT GE TR B
(E) o17aia ued

311y O 27 P.T.O.



57  Consider the following pairs :
1. Nuh Sipihr : Amir Khusrau
2. Riyazul Insha : Mahmud Gawan
3. Burhan-i-Ma’asir Rafiuddin Shirazi
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
Pt gt ot et a6
1. 9 fafe L R gEd
2. RS gen L HEHE E
3. gEE-T-ARR . THeEE Rl
S gl # e g wel gHfaq € 7
(A) o T g (B) e AW
(©) =T g (D) =T & g ot g T
(E) g ued
58  Consider the following pairs :
1.  Basawan : Akbar
2. Mir Saiyid Ali Humayun
3. Daswant : Jahangir
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
P g v R AR
1. sgEA : SR
2. drRmEmEaEl 0 @™
3. T@aq L SRR
SR I @ P g g ¥ 7
(A). ¥ 75 g (B) Faw g
(©) @ g (D) =¥ & g+t g T
(B) o17aia g
31 en O 28

P.T.O.



59  Consider the following pairs :
1. Rani Durgawati ; Gondwana
2. Chand Bibi ; Ahmadnagar
3. Zuhra : Muhammad Shah
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
freferiaa gl ) foem ifeg
1. g o Tiiear
2. =i s L STEEETT
3. W . WSO8
SUER gl | W fhan g ael gafaa § 7
(A) e Th g™ (B) %ad &1 g™
(C) =T g (D) =¥ & g 1 T 7ol
(E) orgaiaued
60 Consider the following pairs :
1.  Amir-i-Dad ; Law officer who carried out the decisions of the judges
2. Turkan-i-Chahalgani A group of forty
3.  Barid-i-mamalik ; Head of the information and intelligence department
How many of the above pairs are correctly matched?
(A) Only one pair (B). Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
frrafeiaa g ) e st
1.  ofR-u-—=r ; fafres stfereerdl St STt & fofa @t Fearfeq s o)
2. J@HT-U—TEAE L T B e
3. SRE-T-AMidS D O SR R fHE agE
SUER gt | W fhan g ael gufaa §2
(A) %ad Th IH (B) w3 g™
(C) =T g (D) =¥ & g ot g T
(E) orgaiaued
61 Consider the following pairs :
1.  SurDas : Sur Sagar
2. Shankardeva : Kirtan Ghosh
3. Sant Tukaram Abhangas
How many of the above pairs are correctly matched?
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
frrferiad gl ax femme s
1. gE™ L g
2. qiwEd B AT
3. 0 Ha JeH ; ;AT
SRR g | W fham g a2 gefaa § 7
(A) %ead ©h g™ (B) w3 g™
(C) =T g (D) =¥ & g ot g T
(E)  orgaia ued
31 en O 29

P.T.O.
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Consider the following statements :

1. Guru Gobind Singh, the 10th guru of the Sikhs composed his verses mainly in Hindi (Braj
Bhasha).

2. The play Niladarpan was written by Dinabandhu Mitra.

3. Anand Math contained the famous nationalist song ‘Vande Mataram.’

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

FrfaRaa semf ut famme @ik

1. el % 109 76, 76 Mide iz 3 oo o g w9 9 & (31 9mon) & @ %)

2. eyl Arees, dsy s g e wn an

3. ofFE A9 | URE TEaml 1 ‘9% Araw Safde 5

T 7T Suied weei ° § fhae M ES 7

(A) %ad TH HIT T ) (B) (%o 1 HYT TEI T |
(C) =il A1 B TRl ) (D) ®E &Y BT TEl TR B
(E) orgaiaued

Consider the following statements :
1. James Mill was highly critical of Indian religion and culture.

2. William Bentinck announced in 1835, that Persian was abolished as the court language and
was substituted by English.

3. Wood’s Despatch led to the establishment of university at Calcutta, Bombay and Delhi.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

frreferRad wmerl ot famm #ifse:

1. S e A o9 it S@pfa & Ui Stf starereTs o |

2. 1835 faferam S = =0 @i, o WITE! Bl TTER &1 A & 9 H 21 S T S8 M SIS
! fean T

3. FHodhdl, I95 S el & T S wne ged e % R Es |

faT T I Bl § 9 foha waA W E ?

(A). Fad TH HIT T F) (B) %ad &1 HYT TR T |
(C) T A1 B TRl ) (D) &g Y BUT GE TR B
(E) - oT7aia e

311y O 30 P.T.O.
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65

Consider the following statements :

1. The Indian National Army had fighting brigades in the name of Gandhi, Azad, and Subhash.
2. The slogans of the Indian National Army were ‘Jai Hind’ and ‘Delhi Chalo.’

3. Rash Behari Bose was not associated with the Indian National Army.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements 1S correct.
(E) Question not attempted

frrferiad sl o fram ity

1. W TR O ¥ e, STeie ofiX A & W 9 Wil firs o)

2. HAIRE TEE O & WRF o e of ‘fawt ol o)

3. T Tl S A g A | s T )

faw T S wue H § fha BUT RN R 7

(A) I TH HIT T 2| (B) &I I HUT G ¥
(C) =il A1 B TRl ) (D) &g oY BT GEl TRl B
(E) orgaiaued

Consider the following statements.

1. The election to the office of the President of India is held in accordance with the system of
proportional representation by means of single non-transferable vote.

2. The value of the vote of each Member of Parliament from Uttar Pradesh is greater than the
value of the vote of the MP from Goa.

3. Electors cannot use the provision of NOTA in the election of President.
4. The provisions of Anti-defection law are not applicable in Presidential election.
How many of the statements given above are correct?

(A) 1 and?2 only (B) 2 and3 only
(C) 3 and4 only (D) 1,2 and 4 only
(E) Question not attempted

FrfaRaa samf o fammt il -

1. AT % TEART &1 gATa Tl STER<aeid A o AT TR i Jord! & STIE ol 5 |
2. IO U % U TGS & T H W AT % GES & 7T % A F 74 B 3

3. gl gaTa # "aarar At (NOTA) % UIae & SUanT Taf & Gahal §

4. e BT & WAL T & g § AR T8l 8 & |

faT T I BuA § 9 foha wuA W E ?

(A). Fae 1 8% 2 (B) %ad 2 3R 3
(C) haw 3 T 4 (D) a1, 2 3R 4
(E). - oT7aia e

311y O 31 P.T.O.
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Consider the following statements :

1. The writ, Mandamus can be issued against both Public Authorities and Private Individuals.
2. Mandamus can be issued to enforce a contractual obligation.

3. Mandamus cannot be issued against the Governor of a State.

4. Mandamus can be issued against a state to refund the tax collected unlawfully.

How many of the statements given above are correct?

(A) Only one statement (B) Two statements
(C) Three statements (D) All four statements
(E) Question not attempted

FrfaRaa semf o femm @R -

1. iR, 7@ @i wike el i fedt Frofl = 391 & faes Sl & o a6 3
2. Hengdlaeis aIE B AR &L & [ S B ST dehar § |
3. W9 % T % fasg demm el el foman o wehar T

4. Herg o139 ®9 § THF BT T HT &Y 99F HH & U T & fasg sy foman < webar T
T 7T Suied weei ° § fhae M ES 7

(A) ad Th BT (B) . %ad &1 HUT
(C) %aa qF I (D) | AR HUA
(E) orgaiaued

Consider the following statements :

1. Inorder to form a new state in the Indian Union, the Parliament can amend the provisions of
the Constitution with a Simple Majority.

2. To amend the provisions of Directive Principles of State Policy, the Parliament requires a
Special Majority.

3. To amend Article 368 of the Constitution, the Parliament requires Special Majority along
with the consent of half of the state legislatures.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

FrafaRaa samf o fammt il -

1. WA g9 U6 791 U0 S & 00 668, 9= S5 & 91 Sia9 & yradmsi o @9ie HT qadl
e

2. g A & e Raeral & waaet § ened s & fau due o fafie agaa @ strasaear g g

3. wiau™ % oTgess 368 W WIYT BT & W €Hs &1 oe qeal B fauniyesrsti i gedta & e fafie
TG DI STALAHAT B 8 |

fam o U wue H § fhan dUT R ¥ 7

(A) %o TH HIT T T (B) %ad &1 HYT TR T |
(C) Tl A1 B TRl ) (D) &g Y BUT GE TR B
(B) orgaia ued

311y O 32 P.T.O.
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Consider the following pairs:

1.  Establishment of standards of weight and measures : Union List
2. Adoption and succession : State List

3. Betting and gambling : Concurrent List

How many of the following pairs are correct?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frefefiaa gt TR foree AR

1. A ST A9 &% 9 WA « dagdy
2. TR O SR SAUTYER : Teagal
3. afér ofir e : et g2

SR gt ¥ Y fohan g ER € 7

(A) %ad Th g™ (B) e & g™

(C) @i art gm (D) 0 BIS 41 g TE
(E) orgaiaued

Consider the following statements :

1.  Residuary subjects are the subjects that are not included in the three lists of the 7th schedule
of the Constitution.

2. According to Article 248, both the union Parliament and state legislatures can make laws on
these subjects.

3. Space technology is an example of a residuary subject.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

frreferRad wel o fermy @i

1. orafie fawa ae fawa ¥, s d@faam o 7497 STgen & 9 giaal § afefag T8t 2

2. TR 248 % PO HHE THE o o faunRetd 3T 39 (erafite) faeRil uX @i S Hahd
3. gfarie wenfi, srafire fave @1 v SaeT ¥

faT T SUE BuA § 9 foha waA W E ?

(A). %o TH HIT T T (B) aw I BUT TEl F)
(C) fi I B Rl ) (D) ®E oY BT GEI TR T
(B) o17aia g

311y O 33 P.T.O.



70  Match List I with List II in reference to Constitution of India :

List I List II
a.  Article 263 i Finance Commission
b.  Article 226 ii.  High Court
c.  Article 239 iii.  Inter-state Council
d.  Article 280 iv.  Union Territory

AR G & g= o g2t [ &1 g2t 11§ fram it
1 T 11

a.  oTT®E 263 i T emEm

b.  oTgmE 226 i, v

c.  oTeE 239 iii.  sfaeueas afiteg
d. ergeE 280 iv. % onRed wee

Choose the correct answer from the options given below

T faw T fepedi & O TE SOX B G9E BIIT ¢

(A) a:ii, b:ii, ciiv, d: i (B) "ari, bi, i, d:iv
(C©) ari, b, e, div (D) a:iv, b: i, c: i, d: i
(E) Question not attempted / STTANT T

71 Match List I with List IT :

List I List IT
a. Second Schedule of Indian Constitution 1. Administration of Scheduled Areas
b.  Fifth Schedule of Indian Constitution ii.  Comptroller & Auditor General
c.  Nineth Schedule of Indian Constitution iii.  Anti-defection laws
d.  Tenth Schedule of Indian Constitution iv.  Land Reform Laws
Tt Lot e 113 e Sy
1 T 11
a. I GGUr &l gl et i gad e @ uemEd
b. AR WU @bl Ul SE ii. fre® o AemEmaiE®
c. WA dfqEw @l {El sggeEt fii. geed A s
d. G EEaE o g Sy iv. g gurR &

Choose the correct answer from the options given below :

T feu T feyenedi § W TE SOX A I9E BIIT

(A)a: i, b:i, civ, d: 1t (B) a:i, b, ¢ i, d: iv
(C©) ai, b, cv, d: i (D) a:iv, b:iii, ¢ i, d: 1
(E) Question not attempted / STTANT T

311y O 34 P.T.O.



72  Match List I with List IT :

List I List 1T
a.  Operation Ganga 1. Ukraine Evacuation Mission
b.  Operation Cactus ii.  Relief and rescue in Nepal
c.  Operation Maitri iii.  Neutralizing attempted Coup in Maldives
d.  Operation Kaveri iv.  Sudan Evacuation Mission
Tt Lot e 113 e Sy
T 1 T 11
a. ST M i goee Tt frsm
b. ST Had i, SO ¥ TR SR T9E &
c.  STOeE A iii. WEE ¥ TEAIae & Tard & ST HE
d. S wrEd iv. e e s

Choose the Correct Answer from the options given below

T faw T fepedi & O TE SOX B G9E BIIT ¢

(A) a i, bic i d:iv (B) a:i, b, c i, d:iv
(C©) ari, b, c v, d i (D) raciv, br i, ¢ i, di i
(E) Question not attempted / STTANT T

73  Consider the following statements :

1. Public Interest Litigation is a legal action initiated in a court of law for the enforcement of
public interest.

PIL has reinforced the principle of locus standi.
3. Both citizens and organizations can file a PIL.

Supreme Court under Article 32-and High Courts under Article 226 of the Constitution of
India can entertain PILs.

How many of the statements given above are correct?

(A) 1 and?2 only (B) 2 and3 only
(C) 3 and4 only (D) 1,3 and 4 only
(E) Question not attempted

FrfaRaa samf o fmmy @ik

1. SHfea arre, S & T & @ e o faftes w31

2. diendud died Efe & Rgia & wlaafaa s g

3. AW SR e a1 WaMEud aTiad & 9hd ¢ |

4. WX % GG % STTEE 32 % FUH Isaaq Red iR STEe 226 % U Soa A-ad Weieud

Y g
T 1T SuTed wuAl ¥ 9§ foha waA W E ?
(A) o 1 3R 2 (B) a2 3 3
(C) %ad 3 x4 (D) e 1,3 34
(B) - or7aia e

311y O 35 P.T.O.
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Consider the following statements :

1. Privy purse referred to a specific sum of money that was payable annually to rulers of former
princely states that signed the Instrument of Accession.

2. The payment of privy purse was a constitutional obligation before 4274 Amendment.

3. The abolition of Privy Purse was justified on the ground that it stood against the principle of
egalitarianism enshrined in the Constitution.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

frreferRad wel o ferem ifsg

1. o o v fafire afd @i ShaRaa &t & 5t o7 agd Raradl & s @) arfie &9 9 <7 S o1 s
ST T I ERIET B o |

2. 429 wfqum ey o ded b 99 B A St e o |

3. fudi ug & gt g@ s uX Shaa ot o g d@faam # wlasiia avarens & Rgia & faeg anl

T T ST wuAl ¥ 9 foha wuA W E ?

(A) %ad TH HIT T ) (B) oW aF HUT TEl T |

(C) =il A1 B TRl ) (D). ®E Y BT GEl TR T

(E) orgaiaued

Consider the following statements :

1. Parliament can legislate on matters enumerated in the State List if two or more state legislatures
pass resolutions requesting the Parliament to enact such laws.

2. A law so enacted will be equally applicable to all the states, irrespective of whether they
passed such a resolution or not.

3. Such a law can be amended or repealed only by the Parliament.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

FrfaRaa semf gt femme @ik -

1. H9e U9 g H e gE W S 9 9ahdl g, afe &1 a1 offus vea fawiiierd 3| s @
STt ® og T98 Bl STIUY HTh T&d Wd H ¢ |

2. ryFratd S a9l ToEl 9 99 €9 |E] B, 916 S 36 UEId & i {6 § o |

3. TEUBR & HMT B haw GHE G0 Gt a1 FRiaa e s gewan §1

T 1T Suied wowi ° § fhae M Ed 7
(A) . %o TH HIT T F (B) %ad &1 HYT TR T |
(C) Tl A1 B TRl ) (D) &g Y BUT GE TR B

(B) o17aia g

311y O 36 P.T.O.
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Match List I with List T :
List I List 11

a. 26! Constitutional Amendment  i. Reservation for EWS.
b.  520d Constitutional Amendment ii.  Education as fundamental right
c.  86™ Constitutional Amendment iii.  Abolition of Privy Purse
d. 103" Constitutional Amendment iv.  Anti defection law
Tt Lot e 1§ e &t
w1 @ 1
a. 2641 gifgartre gy i, 3 °=Yg Ud % fau s
b. 524t wifquihre Gaes ii. e @ Hifee stfye
c.  86ar wifgenin e iii. Pl o @ g
d. 1034t wifaentre denaa iv.  TaeeA—faEl BT

Choose the correct answer from the options given below :

T faw T fepedi & O TE SOX B G9E BIIT ¢

(A) arii,brive: i, d:i (B) 'ari, b, ¢ i1, d: v
(C©) ari, b, c v, d i (D) a v, b, ¢, d: i
(E) Question not attempted / STTANT T

Consider the following pairs:

1.  Consolidated Fund of India : Payment from the fund can be made without Parliamentary
appropriation.

2. Contigency Fund of India ; Held by Finance Secretary on behalf of the President of India.

3. Public Account of India: Executive requires Parliamentary approval to withdraw money from
this account.

How many of the above pairs are correct?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

P g T feree Ao

1. A & diaa ffy : ff g gram dee fafsm & [ e s e g

2. I I ST RAS TR« W & Tgafa @ 9w 9 faa v % gl gra e

3. IRd B AP G 39 G 9 iy e & e wetegfea w doudn @il @ srasgesar g 2
SUe I H o e g wd gAfaa € 7

(A)-, e Th g™ (B) e a1 g
(C) @ =t g (D) 379 Q Big f g T
(B) or7aia g

311y O 37 P.T.O.



78  Consider the following pairs:

1. Equal Justice and Free Legal Aid : Article 36 of Constitution

2. Promotion of Cooperative Societies : Article 43B of Constitution

3. Participation of Workers in Management of Industries : Article 43 A of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frreferRaa gl ar femme sty

1. \F = SR g S deradn @ S & oree 36

2. EEHIY AifrEl Bl Seran &A1 : Wiage @ o 43B

3. TEFN % YEYT § ATl B AEET : E @ g 43A

SR T A P g g ¥ 7

(A) ¥ TH g (B) Faw A g

(C) widml g™ (D) »EdigmTe ()  orana v
79  Consider the following pairs :

1. Right to adequate means of livelihood : Article 39(a) of Constitution

2. Equal pay for equal work for both men and women : “Article 39(e) of Constitution

3. Right to work, education and public assistance : Article 41 of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) . Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frreferRaa gl ar femme sty

1. SISl % Uai ATl 1 STy Wiaem &1 ifesa 39(a)

2. Youl SR Afeareli 3l & Y GHF BM & [T 9 90 @ Siaam 1 eigee 39(e)

3. &M, it ofR wresitie Seredr &l it @ |igam &1 offes 41

SR T A P g g E 7

(A) et 7 g (B) aw & g

(C) widml g™ (D) @EHIgmTE ()  orana v
80 Consider the following pairs :

1. Educational and economic interests of weaker sections : Article 45 of Constitution

2. Educational and economic interest of SCs &STs : Article 46 of the Constitution

3. Organization of agriculture and animal husbandry : Article 47 of the Constitution

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frreferRas gt oy femmt ity

1. B9 I & Siferes O onifeies foq - dfaum @t ergess 45

2. YT S SR STIfe St & e ofiT enfies feq « wfaum @1 srgese 46

3.0 Y Ud gy deA  Wiaum @ sgess 47

SR @ P g g ¥ 7

(A) e 7 g (B) aw & g

(C) =+l At g™ (D) @EHIgmTE ()  orana v
31 en O 38
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Consider the following pairs :

1. The Vice-President of India : Article 62 of Constitution
2. Election of Vice President : Article 65 of Constitution
3. Terms of office of President : Article 59 of Constitution
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Rrerfrfa g o Rt #1RTT

1. A % SUAEAR ; i aa™ &1 s 62
2. IUUEH B GAE ;AU # SATEE 65
3. EU I YEHR B HGEE & e 59

SUER gl | ¥ fha g ael gafaa § 7
(A) %ad TH JH (B) w3 g™
(C) widml g™ (D) »EAIgmTE (B)  orana v

Consider the following pairs :

1. Enlargement of Jurisdiction of the Supreme Court : Article 138A of Constitution of India.

2. Conferment on the Supreme Court of powers to issue certain writs : Article 139A of
Constitution of India.

3. Civil and judicial authority to act in aid of the Supreme Court : Article 144 A of the Constitution

of India.
How many of the above pairs are correctly matched?
(A) Only one pair (B) - Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
Frerffa gl X R AR

1. warE A & SR S R AR §a & ages 138A.
2. gara A B B R S S @l il e ST ¢ AR Sam B agess 139A.
3. wara AEd H gerEdl ¥ G B & e Trie ofit =i wmit@ e | aRdE d9iagm & sws

144A.
SUER gl | ¥ fhan g ael gafea § 7
(A) %ad TH JH (B) a3 g™
(C) widml g™ (D) @EHigmTE ()  orana v

Consider the following pairs:

1.  Dengue : Caused by mosquito and spreads through blood
2. Typhoid : Caused by bacteria and spreads through water

3. Ringworm : Caused by fungus and spreads through worms
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

Frerffaa i T2 R AR

1. < AHesT % HROT a1 ¢ 8fR G & H/ieaqw  Hea 8
2. TEWES : SIET] % BT Bl & ST UMl % ATeq ¥ haadl § |
3. / 315 : ha% b HIUT AT S 3N ISt & Herar 3

SRR T § A fha g wd gAfaa € 7

(A) Faw uE g (B) e 2t g™

(C) ¥ <t g (D) = @ ®g Wt g TE
(B)  orgaia ued

311y O 39 P.T.O.
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Consider the following statements regarding diabetes:

1. It is caused by the oversecretion of insulin by pancreas.

2. The glucose level increases in the blood.

3. The patient urinates frequently, loses weight and becomes lethargic.

How many of the statements given above are correct?

(A)  Only one statement is correct. (B)  Only two statements are correct.
(C)  All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

AYuT & ey W Frefataa suel o fomr s

1. I =19 a1 g & AT B1d o BT &l ¢ |

2. gGIH TIH B WL TG T 8|

3. M @ S-S YT STl B, IS B9 & Sl & S G STl 2 |

SUER Bl W § fohae Hoe w8 § ?

(A) Fa@ & BT G B (B) o 3t ®ea |8 ¥
(C) =i AT Bew T ) (D) &g o B T TR T
(E) orgaiaued

Consider the following statements :
Statement I : The blood arteries have thick and rigid walls.

Statement II : Arteries carry oxygen-rich blood from heart to various body organs under high
pressure.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-I1 are correct but Statement-11 is not the correct explanation
for Statement-1.

(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-1I is correct.

(E) Question not attempted

frreferRad wmel o e HifvTg

B [ Ta il @1 < Jel ofiT Hei Bl 2 |

o 11 emiat stiaieT—gad W &l 9o a9 | &ad ¥ 10X & fafa= of i T o Sl €
SUTERT HYA! @l LM ¥ W@ gY, T fau T faeed § 92 SaY @ 9w i
(A) ®oA-] &R FeA-11 31 Fel € qen waa-11, HeT—1 B 981 WEH I 5 |
(B) " ®o—1 o we-11 <A1 T2t ¥ @fR we-11, we-1 %1 98l edieor 72 2|
(C). Hua-1 981 & AfhT Hem-11 TTad 5|

(D) %oA-1Ted & Wiha wea-11 |21 2|

(E) - oT7aia e

311y O 40 P.T.O.



86 Consider the following statements :
Statement I: Hydrogen is considered as a clean automobile fuel for future.
Statement II: Hydrogen is the most abundant element in the universe.
In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-11I are correct but Statement-1I is not the correct explanation
for Statement-1.

(C) Statement-1 is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

frreferRad wel o ferem ifsg

F 1 TSSO &l 9o & [T @es siid|eEd S99 & &9 ° W1 Sl 81

o 1Lz EEgieM gied | TP /I | 9l S Al O ¢

e et B A § T gy, W R et & & w6 oqw @ aa i
(A) Fu-1 8IR HU-11 T T2l & qen Ho-11, H-1 &l TEl WEHT 2 |

(B) ®oA-1 &R %eA-11 I 921 € Al Hem-11, HU=-1 %1 el T or 72 2|
(C) @ua-1981 & wieh HeA-11 TTad § |

(D) woA-17d & e wea-11 991 2

(E) orgaiaued

87  Consider the following pairs :
1. Ginning : Separation of cotton fibres from seeds
2. Weaving : Making yarn from fibres
3. Polyester : Melts on catching fire and sticks to the body
How many of the above pairs are correctly matched?

(A)  Only one pair (B)  Only two pairs
(C)  All three pairs (D) None of the pairs
(E) Question not attempted

Frefefias il TR foree AR

1. ot (Frf) il o ®ie BIga &1 STeT HT
2. B GRS Y IN S
3. Ol : ST @ 9R forae ST & i il o fades s &

Sud g & Ree gl gt ¥ 7
(A) e Th g0 (B) e &1 g™

(C) @it <frii g (D) T & o ot g e
(B) orgaia ued

311y O 41 P.T.O.
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Consider the following statements:

Statement I: The effect of ant bite can be neutralised by rubbing calamine solution.

Statement II: Calamine solution contains zinc carbonate which is basic in nature.

In the light of the above statements, choose the correct answer from the options given below :

(A) Both Statement-I and Statement-1I are correct and Statement-II is the correct explanation for
Statement-1.

(B) Both Statement-I and Statement-11I are correct but Statement-11 is not the correct explanation
for Statement-1.

(C) Statement-I is correct but Statement-I1 is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

frreferRad wel o ferem ifsg

FA I: AT &6 S b AT Bl hOHGT [OqAT Bl TISHT FHATI FFan I Feber )

o 11 Serare fomae & e sz 2idr & S &g yseia &1 i 3

SUTER B! B M § W@ 3U, T U T fqeedi § o 981 39X & 99 iy

(A) ®HA-I 3T BUA-11 341 TRl & qun BUA-11, HAT-1 BT T TWEH T |

(B) ®u-1 3T ®oa-11 I T8l & @b Hoa-11, Hu-1 &1 981 Weih L T8l §

(C) %oa-1 981 § AfehT Bua-11 TTad $1

(D) -1 7Tdq & Wik we-11 981 §)

(E) orgaiaued

Consider the following pairs :
1. Plane mirror : Image of the same size as the object

2. Concave mirror : Rear view mirror in a vehicle

3. Convex mirror : Dentist

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

frreferRaa gt ar femme sty

1. a9a@ 399 : agg () &1 9t 99 s &1 viafds
2. oEqd U9 ared ¥ RER S (T9-39) 99
3. oaw 9u9 : da fages

SUER gl H W fha g wRl gefaa 7

(A) %I u& g™ (B) %aw ar g™

(C) =i g™ (D) zwasE sigm=el  (E) orgaia s
Consider the following pairs :

1. Quick lime : Manufacture of Cement 2.  Slaked lime : Preparation of Soap

3. Plaster of Paris : Making Toys
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frreferfiad gt ar femme sty

1. feqam sfaaEs @ €M @ fmi 2. g B AT : WA T

3. . TR &% 4T : Rawlie g

SR g ¥ A P g g ¥ 7

(A) et T g™ (B) o 3t g™

(C) wsfr i g™ (D) zwasE sigm=el  (E) orgaia s

311y O 42 P.T.O.
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Take few drops of onion juice, dilute vanilla essence and clove oil in three different test tubes and
consider the following statements:

1. The characteristic smell of onion vanishes upon addition of NaOH, however it persists with
HCI.

2. The characteristic smell of vanilla is lost upon addition of HCl, however it persists with
NaOH.

3. The characteristic smell of clove oil is lost upon addition of NaOH in it.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E) Question not attempted

T ST ST qR@a § =TSl % T & $S 3, Tadl Je1 T 37 AT &% O Bl Wt Frafarad et
W ferm Hif

1. NaOH ™ o= =t i fafire 7 T & s 8, eie a8 HCL & |re s+ Tl 8

2. HCI Fam ax A @ i ta @@ 8 SR &, s9ie a8 NaOH & |re =1 Tl 8

3. @i aa § NaOH fram o saat i e geme & sl 8

fam 1T SuRteR weel ® 9 fopae wUT AT 7

(A) I TF HIT T 2| (B) & a1 we wa ¥
(C) @it A e =& ¥ (D) i ofi ®uT 98 7E B
(E) orgaiaued

Consider the following statements:

1. When pH of rain water lies in the range of 6 to 7, it is called acid rain.
2. Tooth enamel starts to corrode when pH of mouth is greater than 7.

3. Under acidic conditions farmers would treat the soil with quick lime.
How many of the statements given above are correct?

(A) Only one statement (B) Only two statements
(C) All three statements (D) None of the statements
(E) Question not attempted

frrferiaa el oX foam ity

1. o aui S| drpH 6 ¥ 7 % 91 81 S, Al 38 ST I Bl oIl & |
2. G & pH 79 e 8N 9 il & 39d (Sqah) BN & B @ 2 |
3. g uiiRafomt o feram frdt @t Bivaam sifeargs o ITaiid #id 2|

fa 70 SutEd wu H § fha wUT RN E 7

(A) . HIA TH HIT T 2| (B) &I & HUT T ¥
(C) =fi I B TRl ) (D) &g Y BUT GE TR B
(B)~ s17aia ued

311y O 43 P.T.O.
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Consider the following statements :

1. Alkali is a base that dissolve in water.

2. Ca(OH), is not an example of alkali.

3.  Dissolution of a base in water is an exothermic process.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

frreferRad wel o ferem ifsg

1. @ H gasia e &l & Hed ¢ |

2. Ca(OH), & &I JETET & §1

3. el & @1 S W YA U SSHTAUT WA ¥

T T ST wuAl ¥ 9 foha wuA W E ?

(A) %o TH HIT T (B) | e & HUT GEI T |
(C) =il A1 B TRl ) (D) ®IE oY BT GE TR B
(E) orgaiaued

Consider the following pairs:

1. Acid left by bee sting of honey bee : HCI

2. Atmosphere of Venus : H,SO,

3. Antacid : Methanoic Acid

How many of the above pairs are correctly matched?

(A) Only one pair is correct. (B) Only two pairs are correct.
(C) All three pairs are correct. (D) None of the pairs is correct.
(E) Question not attempted

Frerfifaa et T FoR R

1. \y"aE! % & 9 8isl T o : HCl

2. g @& agysa - Hy,SO,

3. Ufs  udAEE ot

U gl § H fohan g wR g 7

(A) %o TH JH GE T (B) a@ g T 2|
(C) | A g &l B (D) g Y g T 7 ¥)
(E) - oT7aRa e

311y O 44 P.T.O.
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Consider the following statements:

Touching a flame is an urgent and dangerous situation and we drag our hands involuntarily. This
fast reaction is attributable to which of the following structures of the nervous system?

1.  Spinal Cord

2. Motor Neuron

3. Brain

4. Sensory neuron

How many of the statement given above are correct?

(A) 1,2,3and 4 (B) 1 and 2 only
(C) 1,2and 4 only (D) 2,3 and 4 only
(E) Question not attempted

FrfaRaa semf o femm @R -

fopell srcmasaes SR WatTe Rufa & o1t &t el #13 9x, &9 SR ST 819 Wig A & | 98 @id widishar
et ot @t Freafaiad & 9 fora ST & Beer B 7

1. w8y

2. U T BT

3.  Hiaws

4. gAY T it

T T ST wuAl ¥ 9 foha wuA W E ?

(A) 1,2,334 (B) ¥aw 1 a2

(C) Haw 1,234 (D) e 2, 3 3 4

(E) orgaiaued

Consider the following statements :

Which of the following functions is/are influenced by adrenalin?

1. Increase the heart beat

2. More Oxygen supply to muscles.

3. Increased supply of blood to the digestive system.

4. Breathing rate declines.

How many of the statement given above are correct?

(A) 1,2,3and 4 (B) 1 and?2 only
(C) 1,2 and3 only (D) 1 only

(E) Question not attempted

FrfaRaa samf 9T feamme @R -

freafafad § 9 SF—a1 / & # TR T g sk/a € 7

1. R & 93T B dol B B

2. wig Uiyl ® orfas " o offeiie f smgfd

3. HEE {9 ¥ E @l gl # ghe

4. @A ETH T

g g SIRiET wel ¥ fohas A ww g 7

(A) 1,2, 304 (B) %ad 1 32
(C) Waw 1,233 (D) e 1

(E) s ued

311y O 45 P.T.O.
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Consider the following statements :

Anaerobic breakdown of glucose in cells results in formation of which of the following compounds?
1. Ethanol

2. Lactic Acid

3. Carbon dioxide

4, ATP

How many of the statement given above are correct?

(A) 1,2,3and 4 (B) 1 and?2 only

(C) 1,2and3 only (D) 2 and 3 only

(E) Question not attempted

FrfaRaa semf o femm @R -

Hifyrepratl ¥ B & STAEAN foraes (TARifee Swere) & uiomrEsd e ® @ s At a9 ¥ 7
1. 399

2. dfes o

3. HET SEAIES

4, uwdHW

SRR B A 9 fohaw e wei g 7

(A) 1,2,3a04 (B) %aw LaiR 2

(C) Haw 1,233 (D) %aw 2 3R 3

(E) orgaiaued

Consider the following statements:

During Urine formation which of the following substances are selectively reabsorbed from the
initial filtrate?

1. Glucose

2. Amino Acid

3. Salts

4. Water

How many of the statements given above are correct?

(A) 1,2,3and 4 (B) 3 and 4 only
(C) 1,2and3 only (D) 4 only

(E) Question not attempted

FrfaRaa semf g feamy @ifso -

A Fer & SR feataiad ® | s 8 vered aritie e (feee) o 997 & gA: STasntod feg oI @ 7
1. TS

2. TwHArS

3. @a9q

4, @

faT Tu Ui wuAl ¥ 9 foha wuA W E ?

(A)d, 2, 3 34 (B) ®%ad 3 &R 4
(C) e 1,233 (D) %aw 4

() o17aia ued

311y O 46 P.T.O.



99  Consider the following statements:
Which of the following plant hormones helps in promoting growth in plants?
1.  Auxins
2. Gibberellins
3. Cytokinins
4. Abscisic Acid
How many of the statements given above are correct?
(A) 1,2,3and 4 (B) 1,2and 3 only
(C) 1 and?2 only (D) 1 only
(E) Question not attempted
FrfaRaa semf o femm @R -
frrefefaa & @ SF—a1 T1ew s Urey @ ghg o 7eE BT § ?
SATfoRa
ISERE]
RIECICIHER
ufeERies v
T T ST wuAl ¥ 9 foha wuA W E ?
(A) 1,2,3a04 (B) ®aw 1,23
(C) ®ad 1R 2 (D) e 1
(E) orgaiaued

B =

100 Consider the following statements:

Statements-1: The length of the small intestine differs in various animals depending on the food
they eat.

Statement-2: Herbivores needs a longer small intestine to allow the cellulose to be digested.
How many of the statements given above are correct?

(A) Both Statements are correct.

(B) Statement 1 is correct but Statement 2 is incorrect.

(C) Statement 1 is incorrect but Statement 2 is correct.

(D) Both statements are incorrect.

(E) Question not attempted

FrfaRaa samf g femme @ik -

FUA-1: B AT &Gl TG [GTH ST A STeb! HISH Dl el & e 9 =1 2 )
HUE-2: SHTERIAT Bl Gegalst & Ured &g @, BIA Sifd & Sasaswhdr sl |

g g SuRiET ®el ¥ s waa ww g 7

(A) A FUF T L

(B) %A 1 72 & WihT B 2 T § |

(C) . %o 1 7 & Wik B 2 Td §

(D) T HIF T |

(E) - oT7aRa 9
311y O 47 P.T.O.
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